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st &5 | X|H|(velocity energy ratio), £EE0|HXA|H|(rod energy ratio),
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Release mechanism 'Hammer system ER
ER Anvil %)
T Cathead N Hamme (%)
TP (%) L e
WES | Trip - 100 | Vicksburg 0 083 83
Japan | Slip-rope(2 turns) | small(5") | 83 | Donut 2 0.78 | 65
USA | Slip-rope(2 turns) | large(8") | 70 Safety 25 1079| 55
UK Slip-rope(1 turn) small 85 | Old standard 3 0.71] 60
USA | Slip-rope(2turns) large 70 | Donut 12 1064 | 45
UK Trip - 100 | Pilcon 19 060 60
Condition nd
> 10 m _ 1.0
6-10 m 0.95
Rod length 46 m 0.85
3-4 m 0.75
Line Standard sampler 1.0
mer US sampler without liners 1.2
65-115 mm 1.0
Borehole diameter | 150 mm 1.05
200 mm 1.15
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